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BF (15~17%) ZF (15~177)

K % DAV S % Z4= S| =tiva K % DAV o e % 74"Vl =livs
L% RE 36 34 70( 1 i1 BT AR 34 38 72| 11
il HER 39 37 76| 2 fi 2 IR 36 37 73| 2 fir
) ALR 38 38 76| 3 fir BE R 39 41 80| 3 fir
ER BN 45 46 91| 4 fir 8 20t 42 39 81|4 fir
AR Kih 52 57|  109| 5 fif olisREs 42 42 845 fir
mEE B e MeTE S 44 42 86| 6 fir
hE BT 44 45 89| 7 fir
R 47 43 90| 8 fir
BR e 50 43 93( 9 fir
B BT 51 48 99( 1 01
BF (12~14%) ¥ (12~14%)
K % VA2 N G2 B = S | (i K & TN 4y |BX |lBAL
T/ hK 38 35 73| 1 iz LWRE ZF 37 38 75| 1 iz
e KB 40 38 78| 2 fir BT VY 1Uh 37 40 77| 2 fi
%5 RE 45 44 89| 3 fir N WBTh 40 42 82| 3 fir
tR—8 44 46 90| 4 iz BH K 44 39 83| 4 fir
B &M B 45 47 92| 5 i il =3 41 42 83| 5 fir
NEF R 47 41 88| 6 fir
EAHES 46 42 88| 7 fir
TEF BRI 45 48 93| 8 fir
BB B 48 57 105| 9 fiz




